MAT2500-01/04 16S Quiz 3 Print Name (Last, First)
Given the vector-valued function $\vec{r}(t) = \langle \cos(t), \sin(t), \sin(2t) \rangle$, $0 \le t \le 2\pi$ (no credit for unidentified expressions in your responses): a) Evaluate $\vec{r}'(t)$, $\vec{r}''(t)$, $ \vec{r}'(t) $, and remember to simplify your results. b) Evaluate $\vec{r}(\frac{\pi}{3})$, $\vec{r}'(\frac{\pi}{3})$, $\vec{r}''(\frac{\pi}{3})$, $ \vec{r}''(\frac{\pi}{3}) $ and remember to simplify your results.
c) Evaluate the exact angle θ in radians between $\overrightarrow{r}'\left(\frac{\pi}{3}\right)$ and $\overrightarrow{r}''\left(\frac{\pi}{3}\right)$ and a single decimal place approximation in degrees.
d) Evaluate the vector \overrightarrow{w} which is the vector projection of $\overrightarrow{r}''\left(\frac{\pi}{3}\right)$ orthogonal (perpendicular!) to $\overrightarrow{r}'\left(\frac{\pi}{3}\right)$.
Solution suspend boxing for a), b) $ \vec{\Gamma} = \langle \omega st, \sin t, \sin 2t \rangle \qquad b) \vec{\Gamma}(\vec{t}) = \langle \omega st, \sin t, \sin t, \sin t \rangle \qquad cost, 2\cos 2t \rangle $ $ \vec{\Gamma}'' = \langle -\cos t, -\sin t, -4\sin 2t \rangle \qquad cost, -\sin t, -4\sin 2t \rangle $ $ \vec{\Gamma}'' = \sqrt{\sin^2 t + \cos^2 t + 4\cos^2 2t} \qquad cost, -\sin t, -\cos t, -$
$\int (1+4\omega)^{2} 2t \qquad \int (1+4\omega)^{$
$\cos\theta = \hat{T}(\frac{\pi}{3}) \cdot \hat{P}'(\frac{\pi}{3}) = \frac{1}{2\sqrt{2}} \langle -\sqrt{3}, \frac{1}{3}, -2 \rangle \cdot (-\frac{1}{2\sqrt{2}}) \langle 1, \sqrt{3}, 4\sqrt{3} \rangle = -\frac{1}{2\sqrt{2}\sqrt{52}} (-\frac{1}{2\sqrt{3}}) \langle 1, \sqrt{3}, 4\sqrt{3} \rangle = -\frac{1}{2\sqrt{2}} (-\frac{1}{2\sqrt{2}}) \langle 1, \sqrt{3}, 4\sqrt{3} \rangle = -\frac{1}{2\sqrt{2}} (-\frac{1}{22$
か 可=(午は)・アッ(雪) 午(物 = 一(く-13,1,-2)・(=)く1,13,413> 法 (-13,1,-2)

$$\frac{1}{2\sqrt{2}} = \frac{1}{\sqrt{2}} \left(\frac{1}{\sqrt{3}} \right) \cdot \frac{1}{\sqrt{3}} = \frac{1}{2\sqrt{2}} \left(-\sqrt{3}, 1, -2 \right) \cdot \left(\frac{1}{2} \right) \left(1, \sqrt{3}, 4\sqrt{3} \right) \cdot \frac{1}{2\sqrt{2}} \left(-\sqrt{3}, 1, -2 \right) \\
= -\frac{1}{16} \left(-\sqrt{3} + \sqrt{3} - 8\sqrt{3} \right) \left(-\sqrt{3}, 1, -2 \right) = \frac{1}{2} \left(-\sqrt{3}, 1, -2 \right) = \left(-\frac{3}{2}, \frac{1}{2}, -\sqrt{3} \right) \\
= -\frac{1}{16} \left(-\sqrt{3} + \sqrt{3} - 8\sqrt{3} \right) \left(-\sqrt{3}, 1, -2 \right) = \frac{1}{2} \left(-\sqrt{3}, 1, -2 \right) = \left(-\frac{3}{2}, \frac{1}{2}, -\sqrt{3} \right) \\
= \frac{1}{2\sqrt{3}} \left(-\sqrt{3}, -\sqrt{3} \right) = \frac{1}{2\sqrt{3}} \left(-\sqrt{3}, 1, -2 \right) = \frac{1}{2\sqrt{3}} \left(-\sqrt{3}$$